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2. Kepler’s law
0000doodooooooooo0oooooooooooooooooooooDo 10000
000000000000 00000 100000 200000000000000000D00CO
00000030000000000000=2344°00000000000000O000O0OO
ooo

00o0o0oo0o0oooOoUooooU0oo (, g)OOUODODOOOOOO

GmM

1 .
L= §m(7'“2 +72¢%) +

mO0O000000MOOOOODOOGOOODOOOOOOOO

d 0L OL d .
— = - ——=00000— 26) =0 2
dt og 99 dt () @)
d 0L OL . GmM
— = -2 =00000 mi — mré? -
dt or  Or 0 mf —mré” + r2 0 3)
DI:IEII:II:IAI:II:II:II:I(2)|:||:||:||:||:||:||:||:||:|2|:||:|
1 ..
A:§r2¢>:DD (4)
000000300 (40000000
. 4mA?  GmM
mr — 3 + 2 =0 (5)
DDDDDD(B)DDDDDfDDDDDDDDDDD
d (1 ., 2mA* GmM)\ _
E(gmr ’r2 — r )—0 (6)
(G)DDDDDDDDDDDDDDD
1 2m A2 M
Lppr g 2mA _GmM b np (7)
2 r2 r
rO00000000C0 A, FO0000O00COOODOOO0
2F 2GM  4A2
F=+/ =+ - (8)

m r r2

00 +00000000000,0000000000000O0DO0O0OOOOOOOM)O00O

. 24
¢:—2DDDDDDDDDDDDDDDDDDDD
r

dr 7 r?2 [2E  2GM  4A?
Rl R i il
do ¢ 2AV m + r r2 )

1
(9)0000000000w=-0000
r

%—%ﬁ— \/—u2+—u+i
do drde 242 2mA2°

0000000000000000000030

4 2 -
= ce=2 o =leodl (1)
1+ ecos¢ a+ a+
3000000 00000 0000 pao2 f du —gin—1 220

(a —z)(z —b) b-a



O00OUOe,f0 (10)000000000CODOO00O0OO0O0OOw0200000(11) 00000
oooo0oOooooOo0edoogvooOOOOOOOODOODOOOO

GM FE ( G2M2+ 2F
— ——  (« - 4+ /.
242’ 2mA2’ 4 A4 mA?2
goooooooobog E<0|:||:||:|4|:||:||:||:||:||:||:||:||:||:||:||:||:|¢:ODDDDDDDD
TZK/(1+6),¢:7T|:||:||:||:||:| r:é/(l—e)l]l]l]l]l]l]l]l]l]l]l]IZIIZIIZIIZIIZI 00O

atf= af =-— - B) = (12)

14 ( 1 n 1 ) 1 2 GMm
a = — = = 5 _
2\l—¢ 1l+e) a+fl—e 2/E| PAES PT PEFE I e
(13) é" T log(T)=1.499 log(a) —0.000049

00000ooo00o0db=avl—e2000000
00000000 rab=ma?>/1-e2000000
ooooooTOo

ma?y1 — e2 > V2|E|
e e

GM\/_ o5 o1 02 o o0z o0 o8 o8 1

log (a)

2|F M
Dmmummm-Lizg—DDDDD

m a

9 05 00000 «T 00

7= g2 (14)

vVGM

GMOIO0O0O0O0O0O0O0OO0OO0OO0OO0OO0OO0OO0OOOOOO0OO0OO0OO0OO0OO0OO0OO0OOOOOOOOOOOoOooog
30000000500 100000000 «00007T0000000OOOOOO 2000
0000000000000 0T xe!'*0000000000

O

3. Kepler’s equation
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4. solution of Kepler’s equation
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5. Transformation of coordinate systems
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